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Q.No.1 Encircle the correct answer from the following choices. (11010)


i. The study of relationships between the biotic and abiotic components of

an environment is called_____.

  





(a) Ecosystem  (b) Ecology 
(c) Photosynthesis    (d) Symbiosis 
ii. Carbon and ____ are two elements that are essential to life.







  

(a) Sulphur  (b) Nitrogen  (c) Hydrogen  (d) Phosphorus 
iii. During____, plants trap energy from sunlight and store it as chemical

energy in food.

 
(a) Respiration  (b) Photosynthesis   
(c) Reflex action   (d) Competition 
iv. Production of food and the feeding relationship among organisms at

different levels from a chain called______.


(a) Food chain  (b) Food web  (c) Predation  (d) Mutualism 
v. The different feeding levels of organisms in an ecosystem are called:





(a) Decomposers  (b) Molecular levels 
(c) Trophic levels  (d) Energy levels 
vi. There are ____types of competition.  
(a) 2 (b) 4 (c) 6 (d) 8

vii. Acidic industrial exhaust gases must be neutralized before releasing into the air to

reduce:  
(a) Air pollution  (b) Land pollution 
(c) Water pollution  (d) Environmental pollution 
viii.The nerves which arise from spinal cord are called______.

  
(a) Cranial nerves 




 (b) Spinal nerves 

(c) Sensory nerves  (d) Mixed nerves 
ix. _____ is the topmost and the largest part of the brain.

 
(a) Cerebrum  (b) Cerebellum  

(c) Thalamus  (d) Hypothalamus 
x. _____is an extension of medulla oblongata.  




 

(a) Pons  (b) Spinal cord  (c) Thalamus  (d) Reflex arc  





Q.No.2. Write short answers. (2612) 
i. How do our bodies respond to the changes in environment?


ii. Why do you pick your hand quickly when it touches a hot object?


iii. Write any one solution of environmental problems. 
iv. What is the difference between predation and symbiosis?


v. Define Reflex arc. 




vi. What is stimulus?  


Q.No.3. Write long answer. (3) 
i. Write a note on central nervous system. 
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